SEMATBABRE 255 1989

WINTER-AUTUMN GPA DIF.( 0/150 BAR)
120E 150E 180 150HW 120U 90N

60N 60N

30N

EQ EQ
1305
80S 605

CONTOUR INTERVAL = 0.02(10 Mxx2/Sxx2)
B 2.4.25 GPA OEDOKFESH (AFE—HF) (EE)

WINTER-AUTUMN GPA DIF.( 2/150 BAR)
SUE

120E

180 150W  120W SO
CONTOUR INTERVAL = 0.02(10 Mxx2/Sxx2)

B 2.4.26 GPA DEOKEDA (4F—HZFE) (20m)
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KEAEFBAHRE $255 1989

"WINTER-AUTUMN GPA DIF.{ 5/150 BAR)
120 1S0E 180 1S0W_  120W 90W

120 150E 180 150K 120W 90W
CONTOUR INTERVAL = 0.02(10 Mxx2/Sxx2)

2.4.27 GPA DFEDKFENA (4F —HKZF) (50m)

WINTER-AUTUMN GPA DIF.( 7/150 BAR)
120E 150E 180 1S0W 120K 90W

60N

30N

EG

305+

CONTOBUR INTERVAL = 0.02(10 M=x2/Sx%2)

2.4.28 GPA DEDKELA (4ZF—#ZF) (5m)
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[EMATEMEE $25%5 1989

WINTER-AUTUMN GPA DIF.( 107150 BAR)
120E 1S50E 180 150NW 120U 90K

60N
30N

£Q

1605

T120E  1SO0E 180 150W  120W 30N
CONTOUR INTERVAL = 0.02(10 Mxx2/Sxx2)

X 2.4.29 GPA DEDKFESA (4F—#*F) (100m)

WINTER-AUTUMN GPA DIF.( 15/150 BAR)
120E 150k 180 1S0NW 120W 90W

650N

TI20E 1SOE 180 120H 9o

CONTBUR INTERVAL = 0.02(10 Mxx2/Sxx2)

M 2.4.30 GPA DFEDKFHA (&F —#KZFE) (150m)
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KEMEFRBHRE $25% 1989

WINTER-AUTUMN GPA DIF.( 20/150 BAR)
20E SOE 180 150K 120U 90W

60N 60N

30N 30N

305

120E 150E 180 1S0W 120W + 90NW
CONTOUR INTERVAL = 0.02(10 Mxx%2/5x%2)

Ez&m,amw%w*$ﬁﬁ(&$—&%)@%m

WINTER-AUTUMN GPA DIF.( 30/150 BAR)
180 150K 120W 90NW

BON

30N

EQ

308

603

"120E  ISOE 180 1S0W  120W 90N
CONTOUR INTERVAL = 0.02(10 Mxx2/Sxx2)

X 2.4.32 GPA DEOKESA (£F—FZF) (300m)
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